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X=398535.51
4354800 Y=4354820.08
R=35.00 B=129.3765
A=15.00 £=.05
L=6.43 u=3.21
M=45.26 M'=3.21
$=32.40 h=.20
T=24.93 3=6.23
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MHKOYZX 2.852 u., O OlNOIOZ BPIXKETAI EKTOZ OPION
OIKIZMOY ZEZKAOQY A.E. AIZQNIAZ.
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MEAETHTHZ N.XATZHMAPAZIAHZ ZEMTEMBPIOZ 2017
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K6

X=398683.19

Y=4354565.31

R=40.00 B=130.5059
=30.00 £=.53

L=22.50 p=11.22

M=66.16 M'=11.10

$=21.16 h=2.10

T=35.83 3=7.42

K'7

X=398710.68

Y=4354675.28

R=40.00 B=128.3804
£=.53
22.50 M=11.22
67.50 M=11.10
22.50 h=2.10
36.77 5=7.91
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K5

X=398763.42
Y=4354494.35

R=40.00 B=134.5196
A=30.00 £=.53
L=22.50 p=11.22
M=63.64 p'=11.10
5=18.64 h=2.10
T=34.12 3=6.55
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